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What is the original piece of metal commonly referred to as?

Qurgieurss GO LU@L 2 Canssdler 2isg) Hiem® eremer ?

(A)

(©)

(E)

Filler metal
Biriy 2 Garsd

Welding machine
ubpereuliL] @b

Answer not known
aflen Qgflweldena

(B) Base metal
SjgliueL 2 Camsd

(D) Welding rod

Qeuedig i &b

What is the process of using an electrode with a continuous wire
feed to produce a weld? ' ’
e GQeudl gwurflss Qsrirsflurer &b cal L sgLer @ sl Grmen
uweTUSEID QFupenm 6TeiTerT ?

(A( Gas metal arc welding

B)

(©)

(D)

(E).

Gaev QL6 <yfié Ceudig

Gas Tungsten arc welding
Caen LmievL 6 2piTé Gleueigmi
Resistance welding

WergenL Gleuedig

Shielded metal arc welding
seug 2 Ceors oiié Ceudigmi

Answer not known
clenL Qzflwaeldene
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3. What is the advantage of plasma arc welding over shielded metal

arc welding?
seus 2 Ceors é Cleudigiiens el Germevnr 2y,Té Geudiymidler Heranaar
G ebTanT ?

(A) Reduced heat input
Gn&siiul L Qeutiu 2 draf()

(B) Improved weld quality
Cubu@ssiul L Qeud® Srb

( Deep penetration
2pLoLome 2ar (b (Heued

(D) Reduced fumes and odors
G®ODESUULL L|end WwHNID BTHM hisGeT

(E) Answer not known
dlen GQsflwalerenew

4.  What is the function of the flash in flash butt welding?
ssLarmeiy L Geudigrdled siletradlen Gawdum® eremer?
(A) To apply pressure
s Qarhés
(I{ To generate a higbh temperature and pressure
2 wir Geutiuflenvenw 2 (Heumsdl wHmID (WS CsThHSs)
(C) To remove impurities ' ‘
SAsdshsmar hsGeaush@

(D) To provide a source of heat
Qeulil HSTISMS CULMKIGHUSDETE

(E) Answer not known
elenL Gz flwelcena
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What is the primary factor to consider when selecting a nazzle for
gas welding?

efleumny QeudiymdlinE om weaear Csiblshs@n Curg smsHad Gamerer
Ceuahrig ! (pseenlo srrenfl eremen ?

( Thickness of the work piece
uanfliugduller sigoammear oj6Te]
(B) The type of gas used

Lweru(hiSsLLHID UL eUens
(C) The operator’s skill level
LGy fer Hper Hleva

- (D) The lengtﬁ of workpiece
uasfliu@gSHufer Her 2yeray

(E) Answer not known
cllenL Qgflueicene

What type of gas is commonly used for gas cutting?

Caev SLIg MBI Cedieughs Curgeurs eTHa QUG WIS QU
LweruRSsUUBE g 2
(A) Propane - (B) Nitrogen
yGrmuGuer B LT
(C) Argon (D/Acetylene
2, & men 2 FL1q 60l eiT

(E) An‘swer not known
er Qsflweldene
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7.  Which welding is used in grey cast iron?
gmbue eumri@mbld erbhs CQeueig uus&g@(&,gﬁu@eﬂmgﬂ

(A) Arc welding (B¥ Gas welding
9},1é Geudig i Caev Gleueig m
(C) TIG welding (D) MIG welding
TIG Qeusvigmi MIG Qeuedigmi

(E) Answer not known
clenL Qsflwelerenay

8. Why should a welder clothes be free from oil or greese while arc
welding?
9iTé Qeuddigis Qe Curg QeudL T e &GeT el erablentil Heeg)
Sffev @ @) mss CeuaT(hib ?
(A) To protect the job

Coumavenrw UNGIHETEHS

(E‘ To avoid catching the fire
§ Ggtiuemss seiliés

(C) To protect the eye
. GERTSEET LITGISTES

(D) 'To protect the broken injury
2 L hS STUSNG LINGIETES

(E) Answer not known
clenL Qgflwelerena
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10.

Which is the treatment given to a person affected by accident on the
spot?

sbua @LsHCCL alussmed LTHESUILLL BUHES, eTemer Hflsens aflés
Geuar (b ?

(A) First treatment (B),First Aid
wso Sdlsams (AL

(C) Go to hospital (D) Second aid
W(mSGleunamen Cabaise @ueawrLmb SldlFens

(E) Answer not known
cllenL Qg flweldrene

Which of the following gases in commonly used in gas regulator and
is known for using left-hand threads?

(G ebr6u (LD eumydsafled T8l Qurgleurs Caeiv QygGa e
vweru(Ssiu@Sng  wHML  @LE  @s  warsmer  LwWeUhSSIeuSTS
SiPlutiu&lpg) ? : . ;

(MY Acetylene (B) Oxygen
8L 1q.6560 <& enfleneit

(C) Hydrogen (D) Propane
@ L yge q@qrr@u@

(E) Answer not known
cllenL Qzflwaicrena
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11. What

is the use of blow pipe in gas welding?

Caev Ceudgmdle g LGerT epuls eTgh@E LweatuBssuuBEng ?

&)

(B)

(©)

D)

()

12. What

To provide a flame for welding
QeucvymdlhE YGarend ghubSS

To blow out slag and impurities

&&(h LHOID S&FssmGmer GeualCwbHmeusnE
To direct the shielding gas

&aUE QUTLenal QUG@GeUSDH S

To cool the weld area

Qeucd(® u@Serw @eflireilss

Answer not known
sllenL Qgflwaicrency

is the use in chipping helmet?

. Suli QandGwl uweaTuHSSLILBH g TSNS ?

A)
')
(©)

D)

(E)

440-Welder

To protect the eyes from UV radiation

ym eargm slieissldl(mpbg samasmaerts LTSNS
To protect the eyes from slag removing
fars &Sz Gawuwyb Curg saEmsmeTl UTEISTES

To improve the visibility of the welding process
Qeucvigms Qewdapenpuien umieneuanw GuobuBHss

To reduce the risk of head injury
SOOSTWD gHUBHL SAUTUSHSE GHDDES

Answer not known
cllenL QgMwelcrena
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13. What is the purpose of the nozzle tip in a gas welding torch?
Caev Qeucigm Lrissled prdld wpevarullen Crrésd eremer ?

(A)/ To direct the flame

14.

(B)

(©)

(D)

(E)

l9CaTend 2 (HeuTdHEHeusnH G

To increase air pressure
sTHPWSsEMS 2Fsilés

To mix fuel and oxygen
eri@ummeT LHMHID YselDMET H0&5S
To reduce noise

FEBHMS (GIDES

Answer.not known

cllen Qgflwaeleena

What is the primary function of gas welding torch?
Caev Geuddigry Liéslen upgerenn Weweum® ereme ?

A)
B)

(©)

To cool the workpiece
uerfluu@deow @eflrellés

To apply a protective clothing
Q@ UTESTUY U&e ellamantniss

To generate a gas shield
afleuny seussms 2 (HeuTss

(Iy To produce a high temperature flame

(E)

2dls Ceuliuflene &Ly 2 (HeuTés

Answer not known
alenL Gsflwueidena
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15. What is the primary purpose of an earth clamp in arc welding?
9& Ceudbiqrudled eriig Hermblden (pserend CrIEED eTebme ?

(A)

(B)
cf

(D)

(E)

To generate a high-voltage spark

o wit Wenan(pss SLGurdlenw 2 (Heurss

To shield the arc from the surrounding environment
&HMIFSGLPA® @) mhg eflenerenculs LNEIGTEE

To connect the welding table
Qeucbigm CenauLer @enanrés

To connect the welding machine
Qeucvigris @uibHrsHer @enenrss
Answer not known "

cllenL Qzflualdena

16.  Which type of protective should you use to prevent burns and sparks
from welding? : ’ :
Qeudvigmdldl(phg Sssmumiser wHmbL SHGUTHsmeTs 5HEES THS eUMSWLITET
ungsTiy smsamd uweatubhss CeuamhHib ?

A)
(B)
©)
‘(Dl

(E) -

440-Welder

Safety gaggles and a face shield
UMGISTUL SETENTTg. WHNID (P&H&EEIFLD
Earplugs and a hard hat
STHeullaer wHnIb syearorear Qs

Safety glasses and a lab coat
UTGISTUIL] SETERTTIq &ET HMID s GCam

Work gloves and a long-sleeve shirt
Geuene ansu|enDa&eT LHMID ¢(H BTl s FlenL

Answer not known
allen Qsflwefdrene
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17. What is the primary factor that effects the penetration of SMAW
(Shielded Metal Arc Welding)?

SMAW Weé 2 Carssder oam@heugys@ 2-Saibd (pSETenwrer  smyant

GTGOTET ?
(A) Welding speed and technique
Qeucigmi Geuslb WHMID HILLID
(B) Electrode size and shape
s Crr(H ere| WHMID Gy 6D
(C, Welding current and voltage
Qeudigm WerCarmLib whmib Wlerar(pssLd

(D) Shielding gas flow rate .
CaLw eumy UL 6S8sh

(E) Answer not known
eflen @sflweildana

18. Which colour is suitable for welding booth?
Qleucbig il LSEHIEE, oThs Himb Qummssrerg) ?

A Black (B) Red
&(HLIL Seuliy

(C) White ' (D) Blue
QeucTener ;Beul.b

(E) Answer not known
- aflen QzMwecene
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19. How should in the welding Area?
Qeuddig iy Qawiuyb @L b ereueurm @ (m&as Geuamr(Hib ?

(A) Short space (B) Without light
Gndu @Lib Gleuaflgsd @eamed

(C) With greese and oil (I{Air circulation |
&lffev wHmib p,udlepL er sTHCHTLL NS

(E) Answer not known
clenL Qg flweldrena

20. What precaution you will follow in welding to avoid fire accidents?
8§ uss gHULTDGD @més aarar (pearQanseflsms Qeiw Couin (B ?

([4 Keep away the inflammable materials
erafldled SLiLppEamiqu QumpLsamer SisHMeyD
(B) Keep fire extinguisher
© S SEUILITETSEMET eU&S5E6(LD

(C) Keep sand bucket near

aumefludleh LoawTed eneuESHE LD

(D) Alert to go away
<ibs GLdiphg elwsed | ®,

(E) Answer not known
cllenL Qgflwueicrena
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21.

22.

What is the principle behind ultrasonic testing?
oL grCsrafls Congenamier Canedrens eremer ?

(A) Reflection of light
pafleow adyrafiss
(B/Sound waves transmission and reflection
@60 BDAOGMaT SI@ILILGH/SLSFSD wHmID Grdlueiiy
(C) Magnetic field disruption
sTHS S@asailamsd sLhsH gnub s
(D) Heat transfer
Qeutiugens HL5F IS0

(E) Answer not known
cllen Qzflwueildena

What type of sound would you expect to hear during a stethoscopic

test on a defect-free weld metal?

@mg)un® @oars Qeuddr. 2 Caragdled Gin_g,rer(Ba;rrlﬁlas urﬂ@&ng,mmuﬂ]m
Curg ehs uanswirar galaw Briser Cal samb?

(A) A dull thud (B) A high-pitched squeak
OHSOTET F&SSLD &(h 2 WIJIeT F&FLD

(C/ A clear ringing note - (D) A hissing sound
Qgefleurar fms @by @@ adlevelli 5510

(E) Answer not known
clen Qaflwueildwena
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23. In magnetic particle testing, what 1is the purpose of

magnetometer?
asrr?g, glaer Cangenanuiley, smpgonaiulier Crréshd eremen ?

(A) To measure magnetic field strength

SMHSLILQ cuadlenpeni 2jemeil

(B) To assess material thickness
QumrmeT Higwer wHUEHeusDHE

(C) To evaluate surface smoothness
Cupuriiy Gwerewenw wHUGHeusHE,

(D) To measure electrical conductivity
et sLSgGiSHmenen iarell

(E) Answer not known
cllenL Qzflwaldrena

24. Size and contour of weld are determined by

Qeucdig e yeTay, auigeuld ——— o4 SiwraissiubEns
( Weld Gauges (B) Magnifying Glass
Qeuer(p) Camggeiv 2 (HUGCLIHEGHD HeHTeanTTly
(C) Steel Rule (D) Naked Eye
~ Gled aRED ' - Ceumd sawser

(E) Answer not known

aflen Gz flwaeildwena
25. Radiography test uses rays.
sdlieiss Gengamanies —— sdliser LweruSemmer.
(A) X-Ray ' (B) Gamma Ray
erée ST &TOM &S
(Cl X-Ray or Gamma Ray (D) Ultraviolet Ray
eTdhen ST Deg STOM Gl ym argm &Sl '

(E) Answer not known
sllenL Qzflwalerena
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26. Sound with frequencies in excess of

27.

ultrasonic frequency

referred as

hE odsorer @ HiQeusdr WBAwred Hibeusmr erer

euALLuBEng.

(A( 20,000 Hz
20,000 Qanit_6v

10,500 Hz
10,500 Qapirt_eiv

©)

Answer not known
clen Qgflueicwene

(E)

NDT means

NDT ererruigy & GH&@W

- (A) Normal Destructive Test

srgmren Gesliu@sgIb Censamen

( Non Destructive Test
Cesliu®ssns Cargaer

(C) Non-Metal Destructive Test
<Carrs Cogsliupsgb Cangenen
(D) New Destructive Test

yg Gesliumsgib Cangeanen

(E) Answer not known
‘ e Qsflwueidene

15

(B) 15,000 Hz
15,000 Qapit_aiv

(D) 10,000 Hz
10,000 Qapirtev

440-Welder
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28. Stethoscopic test 1s also called as test.

ELssavCam GCarganar ———— Gargangn eranmid SP&SLILIHS DG
(A) Etch (B) Sound

T & )
(C) Hardness (D) Radiography

&1 ATHHEMENLD sl aliFs:

(E)

Answer not known
cilenL Ggflweidena

29. Before making the next run in multi-welding, each weld is inspected
by which stage to check that it has been adequately cleaned?

LDED1g-

Qeuchigri-ob 2Hss GCeudbigm LU sy Cuhlardreugn@ per

gauleurm Geud@®Hd Cumgwrer ety &#$5b CFLWNILLRETETST eTeTLMS
sfluniés eThs LMTeney e ey Qeluliubhdng ?

(&)
of

(©)

(D)

(E)

440-Welder

Visual inspection before welding
urfenel eped 2iiey Ceuged Cleueig G&wmg,m@ (e

Visual inspection during welding

umrenel epeid e Qauiged Geudigm Qeuubd Qumipg

Visual inspection after welding

urepeu e iie| Geudiy i QFiig 9nE

Visual inspection before and during welding

urrepel eped Yuie] Ceudiym Gsueush@ ety wHmID Geudig
Qe Gureg

Answer not known

elenL Qg flweldena
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30. Which is the type of non destructive test poses a hazard to the

31.

operator?
aphg  eauaswumar  Sfleflewrs Carsemear  JUGILLBEG — JUSDS
THUOSSEDSI?

M X-ray Test (B) Ultrasonic Test
ar&ev-Cr Cargenen <@L grGerafls Cangeaner

(C) Magnetic Test (D) Liquid Penetrant Test
aThsgseT Camgenen Slreu ssr(p(meucd Comseana

(E) Answer not known
eflen @sflweildvana

What is the disadvantage of destructive testing?
Cesliu®sd urisEh Cergamanuien Smwaser eTerean ?

(A) It is time-consuming
Crrsans er(hsgid QamaT(@hid

(B) It can be expansive
9dls Qeweum@b

(({ It destroys the specimen being tested
Canganamuler Curg wrdlflenw CasliuBsgise

(D) It is less accurate
GDODHSETE] FOWIDTE

(E) Answer not known

sllen Qzflweildene

17 440-Welder
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32. What type of loading is typically used to test the fatigue resistance

of welded joints?
Qeuebt_ ppl_(hsaflenr Ceriey erdliitienu Cendlés Qungeuns ehs cuaswmer
THoIHD LweTuRSSUILBS DS ?

(A{ Push-pull loading
L6ip-Lehd THmISED
(B) Torsional loading
PR&ES THRISSD
(C) Bending loading
CUENETSHGLD 6 HMIGHED
(D) Tension-compression loading
@ (peflens-g(h&s GHnIHED

(E) Answer not known
eflen Qgflwelcena

33. Before performing destructive tests, what is an important initial
inspection step for welds?

Cesliu@sgib Cangeamansamerd DFlicusn@, (e, Heudl sEhsaTer (p&slwimer
TDU SpUI6e|LILIg 6T6bTen ?
(A) Measuring the colour of the weld
Qeudvig e Hipgens 2iemell(Hse
(BF¥ Conducting a visual inspection for obvious defects .
Qeveafliuenwimen GPUTHSEHEE &TLS (aflseald) guiiey HL G550
(C) Weighing the materials
QumrmLsener eren_Cum(hiHe
(D) Assessing the environmental conditions
&HNIFGHLS® Blanwewsamar wHUIEEH Qs

(E). Answer not known
ellenL GsMwuaicrenaw
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34. What type of testing is typically performed using a free bend test

35.

36.

Vise?

@eeus  euaarey (LUl Guakrl)

Cersenanuild  eneuaanL

vweru @SS

Qurgeuns erhg cuaswrear Camgeamar Cswwiu@Sng ?

(A) Non-destructive testing
Cesliussns Cersamaer

(C) Static testing
Hlevaowrear GCsrgamer

(E) Answer not known
clilenL Gzflwueildwena

(Bﬁgs tructive testing
Cesliupsgib Camganer

(D) Dynamic testing
aLandls GCamgener

The test method used to test strength of spot welded joint is

eoum’ Qeue® (e Qaue@) CQeuwiulL @eewifer el wsd

sarLplyd Cerganan
(A) Hardness test

siqanggenann GCargenar

(C) Bend test

cuenerlil) Gamgenan

(E) Answer not known
aflen Gsflwueldrene

(Eﬁ‘ensﬂe test .

@ paudiien Gamganer

(D) Fatigue test
SwirEs Cenganar

The main objective of weld 1nspect10n is to ensure of

welds

Qeuvpaafle, CQeued® ey Qelieusen wWaflw Cpréssdearme

2Mpg Qamereriiu@BEng)
(A) Medium quality
BHSEST STD

(C) Low quality
GPDHS ST

(E) Answer not known
alenL Qasflwelcena

19

(]ﬁ-ligh quality.

2 W r'r(r_'r;g, g,mb

(D) Low and medium quality
GOPHS LOHND FHSST STd

440-Welder
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37. How is identify lack of fusion internal defects by destructive test?
Cegsuiupsgid Gemgamar epad 2 (G Curgorersrs — @derano
Gdpurligemar ehg LTNCsTgamaer epeb Gl ?

(A) Electron microscopy
Weneram evw&GrmevCamils
(B{ Examination of fractured weld
2 anLdsliul L Qeudgenar uflCergamer Gauige
(C) Eddy current test
BlerGleul () GCamgeaner
(D) Mass spectrometry
Wlerargml e Gamgener

(E) Answer not known
allenL QgMwalcrenay

38. Which is the test to determine the tensile strength and ductility of a
weld?
@@ Oeudger Gupeieans euellenw womd Bisg GCurgh seTambEmLIS
saLplub Cangemer erg) ?

(A) Charpy impact test (B) I zod impact test
gmitld sré@h Cangene & () sré@h GCangenar

((/ Tensile test (D) Hardness test
QLcrenged GLevL- siqardseren Garganer

(E) Answer not known
sllenL Qzflwalcrena
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39. A test that involves breaking a material to assess its strength is
known as
@ Qummenar 2 L LiLgeT pped g6 g Hname wHLISH Geuwynd Cerganer
el BemPESLILISH DS
(A) Dye Penetrant test

gmw Gergeaner

(B) Magnetic particle test
amhg ellens Gangener

(({ Tensile test

QLemenged @LGTUI_. (@ pena Cﬁacrrg,mm)

(D) . Ultrasonic test
s@LgrCerafs Comgeanar

(E) Answer not known
allen Qgflweldvena

40. Why inspection are needed in welding?
Qleucbig il yie] Ceicugen GCHT&EED eTebme ?

(A/Determme faults, strength and quality weld
Qeudd(® Gepun(h euellen wWHMID Srsams Sireilss
(B) Determine the material
Qumrener (Gl igflwe) Siwrallss
(C) Determine the welded metal
Qeudd(® Q&g Qo Leme Sroreailss
(D) Determine the electrode fusibility
' sl Gyl e m@eums Sioraflés

(E) Answer not known
ellen Csflwaidveney

21 440-Welder
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41. If speed of the welding process decreases, then heat affected zone
and distortion
Geucbig iy Geweapenpuliienr Geusd GepubGurg, Deutiu urdiy L@ wHHID

2, LTHOLD
(A?J Increase
2idaM&dng)

(B) Decrease
GLluE g

(C) Remain the same
20U G 2 drarg)

(D) Are totally controlled
woHbl@iors sGLUUESSLUESEDS

(E) Answer not known
cllenL Qzflwaeldrency

42. Peening is done over the surface of the weld to relieve

Qeud® ugtler Bg el Qelieug & afl(Heilé@l.
(A) Internal defect (B) Internal strain

2 LUmé& Ganpur(h 2 LD SN&e
(C/ Internal stress (D) Internal crack

2 L ps Sifly o Uy eflflged

(E) Answer not known
efleb Asflwalcrene
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43.

44.

45.

Buckling is the deformation particularly in plates of
thickness.

Apeflge eremm 2 (HLIOOL GDILUTS sarparer WGar_(Haafled
gHUBHEDG.
(A) More (ﬁess
s &®DHS
(C) Heavy or small (D) Too heavy
fswrer g Glwdelw s oidls

(E) Answer not known
aflen Ggflwelldbena

Due to distortion the weld job getting?
2 5$ Sy ghuBeusred Ceua(® eriiuy @) (HSEWD ?

(A) Bad (B) Good
: Cured _ : BETMTE
(C) V. Good (]fl’oo bad appearance
W& Bermrs Bla Curgwrear Carhmbd

(E) Answer not known
aflenL Qs flweiidvene

Which one of the following methods of welding is not a method used
to control the distortion?

ST euhmeT Ths Cleudiqmh - peppurearg e (hLrHnsmss s (HULBHSS
vweru(RssiuBeudlaena ?

(A) Skip welding (B) Back step welding
&l Qleuedig il | Cus ev@lLLs Qeueigm

(©) IRight hand welding (D) Intermittent welding
g s Ceudign @ermbl e’ Cleudig

(E) Answer not known
aflen Qgfweildvame
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46. Transverse (Distortion) shrinkage that occurs to
GN&ES (2 (HheubTHDLD) FMHE&D errGs ghubBEng ?

(A) Parallel to the weld line
Gleud(h evaallhE@ @ emeaTwirs

(E{ Perpendicular to the weld line
Geucr(p) ewavailh@ CsmiEssns

(C) Angular change
Cament IHDEE

(D) Size change
<jarey WrHnSHSHe

(E) Answer not known
cllen Qgflwalcrena

_ 47. Improper arc travel speed causes

SaUDTET 241é BaTe] Cousid 8 FHUGSSID.

(A) Distortion (}E{Arc blow
2 (HeU OMHmLD 2,1& seTarliL(hise

(C) Less spatters (D) Complete penetration
@emmeuner 2 Gonss QgmlLiLser (P (PENLDWITET 261 (h) (THEUED

(E) Answer not known
eflen Gsflwuefcrenay
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48.

49.

50.

Arc blow 1s experienced most when using current

<TE  getemlumhisd  QupbUTLD BlerGanm_L s
vweruBisgitb Curg ehu@ib.
(A/ Above 250 ampere (B) Above 150 ampere
250 <y wwmsE CGuoe 150 <wGwumse Cue
(C) Above 200 ampere (D) Above 100 ampere
200 <y 9wméE CGuoed 100 <y Quims@ Cuoe

(E) Answer not known
cilenL Qzilwaeilcency

What is the angle of pipe axis with the base for making an elbow
joint?

Gwru aoCur @aeamuamu 2 maurs@ Gurg, Guey L6 Gpmu &fler
Gamemrid

(A) 45° : : (ﬁ( 90°

(C) 120° (D) 180°

(E) Answer not known
aflen Qgflweildens

The effect of arc blow has

<& LGerrailearmed enara] ghub.
(A) Correct weld ; () More spatters
ghlwrer Qe 3Hs 2 Cars Azl ser
(C) Good penetration (D) Less spatters
BOO BLOLOMET 261 (H) (HeLED _ Gophs 2 Caors Ashuyser

(E) Answer not known
e Qs flwaeildena

25 440-Welder
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51. The arc blow can be controlled by
<& LGarm ————— eped SLHUUBHSSLLBHEDS
(A) High current input
9I$a Wlenamyid

(B) High voltage input
2ifls Ceurar GLgy

(C) High resistance current
2F& Wlergen_

(D Holding the correct electrode angle with a short arc
ghlurer ojetey eradsl Crmh LHMID GLanl 2yiid

(E) Answer not known
allen Gsflwaidrency

52. What is the purpose of the wrapping the electrode cable around the
work? 2 ] L
Geueoigrs Gayd GQurg Qeudgn CsGdr <yerg Qeudw®m smmlear g
shplupeuser CHTEED cTeTe ?

(A) 'To control the distortion
2 (HMHnSmss sL_(Huubhss
(B) To control the buckling.
Qpefigemeasd sl HLLOSS
( To control the arc blow
<té LGarmeneus s HuuBSS
(D) -To control the over heating
<fle deutiusmss sl HLubhss
(E) Answer not known
alen Gsflwelcrena
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53. The selection of nozzle for pipe welding depends on

@i updeening prfleas Csirey Qslicug ———— — GUTNISSS).

(A) Pipe length (B) Pipe wall thickness
@wmuier Sersens Gl HeUT&ESaTSMS

(C) Pipe outer diameter (D) Pipe inner diameter
@wmuier Qeuafl el sens @wruiler 2 61 6l Lsms

(E) Answer not known
clilen Qaflweildwena

54. Purpose of using bent wire is to
uemenhs &I LweTuBH g euser CrTEsLD
(A) Align the job
Ceuamaenws Sienwe] CFLISNIEE, @G0

(]{ Set root gap
<y Qe Geuafl Bienbey CFIFNIEE U @GD

(C) Provide root face

Gaulr patienu eN(Heush @ &b
(D) Minimize stress

Sflou G@PLUSHE G
(E) Answer not known

aflen Qg flweilcena
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55. What is the size of key hole to be maintained for root pass in pipe
welding?
Ul Cesdigiidled epl umev -ar & Capmed (#meils GleneT) ojaTey EreUeLETE]
G més Geuam(hit ?

(A) Jl% times of electrode

1 :
15 LBIE eTds Crm@H =erey

(B/ 1/1l times of electrode

1’ — LEIE sl Crmh emey
times of electrode

] =

3
11
3
1
C 1—
©) \,‘ 3
1 : .
1 LBIE &L Crm®H 2emey
(D) Jlé— times of electrodte
T _
1}lg LLBIEG sl Crrh era]

(E) Answer not known
- eflen Ggflwelerene

56. What is the size of electrode for root run in pipe welding?
eull  Ceudgmdd el gar  Dg&sEs  hs emey &l Crreni L

vweu(hggieumd ?
( 2.5 mm (B) 3.15 mm
(C) 4mm ' (D) 5 mm

(E) Answer not known
dllen Qsfweldene
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57. In pipe welding 5G is referred to which weld position?

58.

auts Qeucvg e 5G ererugl erhg Qeucign Havwamws GMsHanmg ?
(A/ Pipe weld in horizontal position

(B)

(©)

D)

(E)

SenL ol L flene

Pipe weld in flat (roll) position
uBsms Hlene (spHE)

Pipe weld in flat (fixed) position
uhsens Hlena (Hlenewimer)

Pipe weld in inclining (fixed) position
gmie] Hlenew (Hlenevwimear)

Answer not known
alen Qsflueildena

How many pipe joints are there in Pipe welding?
Ul Qeudigiidléd euls @eeRTiILSET erdgenar euansiLi(Hib ?

(A)
(©)
(E)

5 (B) 6
7 (I® 8

Answer not known
e Qgflwualerena
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59. The primary advantage of using a branch joint is
fenar @enantiiysaflen (psearenowime LwWeTLIT(H Greme ?
(j To allow for increased flow distribution

MEICuTdlE@D @l s fafsdns

(B) To change the pipe diameter
Grmusafler il samg wrHD

(C) To provide structural support
SLL D& (@H&E 2 MIF)6 e

(D) To reduce the length of the pipe
Gwrisefler fersams GHonss

(E) Answer not known
cllenL Gsflweldvena

60. In Branch pipe joint how many equal divisions should be made?
fleners @Gmu @eeniiy elfleurdsd CeleushE eassaer o Wflejsamer
swrilés Ceuem@ib ? ’ i ‘

(A) 4 equal divisions (B) 6 equal divisions
4 s 9feyser 6 #w Gfleyser

(0/ 12 equal divisions (D) 16 equal divisions
12 &w 9feys6r _ 16 gw Gfeyser

(E) Answer not known
clenL Ggflweldena

61. What dose the symbol with two triangle, pointing together signify?
Qeucbigm Sibuaflenr Grearh WP&CaTaRThRISEHD QETDNE &l igssM (B Serard
(SbuieT) ereme ?

(A) TFillet weld | (B) Plug weld
Wéer Qeud Yers Ceued(h

(C) Backing weld (IJ Weld all around
Cuédliu Qeud(® ' 2D ey Ceue ()

(E) Answer not known
silenL Qzflwalerena
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62.

63.

Which position is not commonly used for welding?
ahs Hevawrer Qurgeurs Qeudgmdled LweaLBhdgeug @aena ?

(A) Flat
fenLol L Hlene

(B) Horizontal

ubseas Hlara
((l Diagonal

@LwiEGHO Hlave (epae oL Hlana)
(D) Vertical

Qp[H&@ Hlane

(E) Answer not known
elenL GQgflwueiidwana

The main effect of arc length on a weld is
@@ Qeudig e i Hergdlean apsdlw Geuames e ?
(A) Increased spatter
Qamuemu gsfliing
( Arc stability
< TEms Hleliu®sgeug
(C) Poor fusion
GHEDDEUTET 2 (H(&HSH
(D) Poor Arc stability
I THms Hlow Hnss @ueren
(E) Answer not known
e Qgflwaidena
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64. What is vertical Position Groove Angle for (ASME)?
A& fow (Qergss) @ma Geadgn Hlowla @Hup (ASME)

GTGITEuT ?
@A) 4G | B) 1G
©) 2G 3G

(E) Answer not known
clenL QsMweldrene

65. Which position is very eased for welding?
g Geueigmi Hleva Geueh(p Cawieug seuLd?

(A) Horizontal

denL L Hlene
(B) Vertical

QpH&E fleve | Qeki@sg Hlane
(C/ Flat / Down hand

U@ &ms Hlane
(D) Over head

sana&@ G Hlane

(E) Answer not known -
elenL Qgflweildwenc

66. —— arc length produces humming sound.
<fié Berd frasny gammu gHUBSSID.
(A) Short (B) Long
GLenLwimer _ Beromrenr
(C) Normal (D) Medium
FMSTITEwT BHblene

(E) Answer not known
cllenL Qsflwelcrene
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67. When welding with a short arc length, which of the following is
likely to improve?

Gndu s Bersas LweaTLhsH Qeudign Qewuynd Curg SpsemeubHmer
aeng CubuBEs 25 b ?

68.

(A)

©

(E)

Heat input ({Arc stability

Qeutiu 2 erafienL < rEms Hlene Flmsgib sereno
Penetration (D) Spatter

SLPLOTET 261 (h)(THEUE Qsduy ghu@euams

Answer not known
aflenL QAsfwelldene

What is a effect of a long arc length during welding?
Gleueig rudler Cumg e <y Tsdlen ellanarey ereme ?

(A)

Increased penetration
2Psisg a®Beued

( Oxidation of weld metal

(©)

(D)

(E)

Qeucbi 2 Camagdler 2&fmGarhmLd

Reduce heat input

GpésLLL L Qeutiu 2 éraf()

Improved control of the weld pool

Qeuer_ @ersdlen GubLRSSULLL s HUurE

Answer not known
cllen Qg flweildana
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69. The distance between the tip of the electrode and the parent metal

where the arc strike 1s called

2 Camasgdler  Cupuriilnatd

ere&L_Grm(®)

(E/Arc length

91E  Ceudigmdledr sy
paand@d @ent_Gui 2 erem Gy ereleuTm iWPESLILIEGILD ?
(A)  Arc gap

<yt GaLl

(C) Arc distance

24T 1g VL ebTah

(E) Answer not known
aflenL Ggflweldana

916 Ceves

(D) Arc width
<& efl G

70. Which of the following arc lengths produces a wider bead?
THS euens % Levers LweTuBhSSarmed swnear Geudl 5 ghu@bd?

(A) Short arc

- (GLOLWITET T8

(C¥ Long arc
Bemmer s

(E) Answer not known
allenL Qzflwalcrena

(B) Medium arc

Bhbleana 24 iTé
(D) To short arc

& @GLenwimen ié

71. To weld stainless steel and hard facing, what type of polarity you

can choose most preferred?

sgar wpsUbLejb, svGLuleartaosn eueed Ceudgn Qauiue|b 6hs euamswTer

CQurefligerw CasrbsHuum?
(A) AC transformer

AC grrerevumiwir
(C) Straight polarity

Crir wpevariod

(E) Answer not known
cllen GQsfweldvana
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el pevarod
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72.

73.

74.

Which type of polarity used for heavy and super heavy coated
electrode welded?

s eumswrer Qureriligew vweatuBhsd sarorer UFs LHOID NS
sarrer UFsk aream sl Grmen Geud(h Olawieumii?

(A) Rectifier set (I(Reverse polarity
Q&g uwi Qe Meuirey Qumemfliig

(C) AC transformer (D) Straight polarity
oJ.&. g ITeTEuLITTLDN ev@Lw GQumremfliig

(E) Answer not known
aflen Qgfweilcenc

Which type of polarity used in Cast ion metals?
Coevl Swier GQulieme GQedh GCeuw by Qureriigew GCGsiey
Qewieumis?

(t Reverse polarity (B) Electrode Negative
fleufre Clumemfliiig erusL_Grrh Cpsigeyl

(C) Straight polarity (D) Rectifier set
el Qumremiliiig Qrdiguwir Qe

(E) Answer not known
clenL Qgflwailcens

Which type of polarity used in bare wire electrode?
Qergev Yia @oars Qeupm swb aal CGrmbhés ebs euamaswnar Guremfliiiy
vweTU(DSGleu mul ?

(A/ Straight polarity (B) Reverse polarity
Cpir Gumemflliy | ardlir Quraomfliig

(C) AC transformer (D) Rectifier set
.8, g ymeTeuUITTLO Qréguwir e

(E) Answer not known
eflen Qsiflweildena
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75. What is the direction of electron flow in a circuit?
sHmel LSS eraslyrer @l Lgder Sens eresmer ?

(A) From positive to negative
Crirenpuilell(Bpg erdlineam eueny

(B/ From negative to positive
ardlirenpuiledlmbg Crirnann euenty

(C) Randomly

sHEFweTs

(D) None of the above
Cuwla ergiab @edame

(E) Answer not known
aflen Qgflwaldane

76. Slag is not generated after which of the following welding processes?
Gereumd erhs Qeueigm Qewdpans@l ANE 56 2 (HaurssiiuLefdaame ?

(A) Manual metal arc welding (B) Flux cored arc welding
Cuayeid Gl <yis Qeudig soliaréen Camilh <pid Ceudig

(C/ Gas tungsten arc welding (D) Shielded metal arc welding
Caev LiievL e <yité Ceudigm saus 2 Caons oyiés Ceudig s

(E) Answer not known
sllenL Ggflwelerene

77. A radius gauge is also known as

@ Crigwev GCsgy e Sip&sliuGEng.
(A) Snap gauge (B) Feeler gauge
everms Gagy Serrir Gargh
((4 Fillet gauge (D) Slip gauge

Gerer Cagh , evadls Cash

(E) Answer not known
ellen Ggflweicdena
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78. Which metal in welding process is subjected to “weld decay” defect?
Qeudbigris wpevpuie Geud® w&Cs erarn Gepur® ehs 2 Carssder g

ghuib?

(A) Brass (B) Copper
Qyrev ST

(C) Mild steel (]{Stainless steel
([ 6LLe6d QL uleeen evied

(E) Answer not known
cllenL Qzflwailcren

"79. A key hole is to be maintained throughout the welding of the first
run in a butt joint to ensure

Ul smdemge s ugereus QeiuybGurg Geeiger @@mma;@m gmefil
glenarenw UgTALIUSTD Spssam. G@neaw 2 nSHuubHSSOiD.

(A) Crack freeend (B) Proper bead width
Qeugtiupp Cleudig i FMWNer Uiga] &b

(C) Good rainforcement (IlProper root penetration
B GQruilerGumievblnai sflurer iy {6

(E) Answer not known
aflen Qg flweildena
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80. What does the Dye Penetrant Testing (DPT) method detect?
smw sarp(meued (e Guafigen) Csrgener enpuled erhs @GeDUT ML
ST Hlwieomd ?
(A) Internal defects
2 Lyp @Gepum(p
(]t Surface cracks
youriy elfled (#mCuev Siyms)

(C) Weld dimensions
Gleudigmdlen 2iemey

(D) Weld composition
- Qeudd () smbCursee

(E) Answer not known
cllenL Qg Mweldene

81. Which gas is used in Torch brazing?
Lmrirg AGrefimdler erhg eumy uweTu®SsLILIbHS DG ?

(A) Oxy-Nitrogen (B) Oxy-Coal
& adl-anbLIyege < Gall-Camed

(C) - Oxy-Hydrogen (D/Oxy-Acetylene.
< &all-enam L Faer 2,5 - 248 1g.6dl et

(E) Answer not known
alenL Qsflwalidvene
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82.

83.

Which temperature is suitable for Brazing?
g Qeutiuflena GCrellmdnaE apma ?

(A) above 250°C (B) above 350°C
250°C Guwé 350°C Guwe

(({ above 450°C (D) above 600°C
450°C Guwé 600°C Guwé

(E) Answer not known
aflen Qzflweildena

What are the dimensions-and widths of the grooves of the groove
roller?

Gmeu  Crreofler  @meu eahshs eTaysefld/swnisamer CsraTLgns
2 _GTaTeT?

(A) 4mm,8mm, 9mm, 11 mm

4 mm, 8 mm, 9 mm, 11 mm
(B{ 3 mm, 4 mm, 5 mm and 6 mm

3 mm, 4 mm, 5 mm whm 6 mm
(C) 4 mm, 6 mm, 7 mmand 10 mm

4 mm, 6 mm, 7 mm wpyw 10 mm
(D) 5 mm, 6 mm, 8 mm and 10 mm

5 mm, 6 mm, 8 mm whmyb 10 mm

(E) Answer not known
elenL Qgflwalerena
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84. What is the maximum clearance between two surface to be pressed

together?

Crélmdler @aearsslu@bd @ranh urlysEpsEGh Qe Cu fsuls

@eLGeuad ereucuaray?
(13! 0.08 mm
) 1mm

(E) Answer not known
e Ggflwueidana

(B) 0.09 mm
(D) 1.2 mm

85. What is the electrode used for resist pressing made of?

erdliy GGyl LweTU &SI HID Qs Grm( CTHETTE
swriléstiuB&ng ?
(A) Copper (B) Brass
STLILIT Qe
"(C) Carbon (D) Aluminium
STTUET < laflwid

(E) Answer not known
sl Gsflwueicana

86. Triangular cross-section joining two surfaces is called
@Qranh GCopuriyseaer @aens@End WasGareant @&ni&EE el gmer ereueummp)

FnMIGUIT?
(A{ fillet
Sslilebar

(C) slope

uGemi/smiie)

(E) Answer not known
clenL Gsflwelerena
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87.

88.

89.

Why the surface cleaning is important in before welding?
Qeudig i Qeleisna@ wer Cupuriiamu &&sb Qeueuger upsHuld ereer ?

(A) toincrease hardness (B) to remove hardness
sqandsenewau Hshss SqASHETDEW 558
(C/ to remove contaminants (D) to increase contaminants
IESHSBISMET HéHs DESHSHGDET F &6

(E)  Answer not known
elenL Qzflwueidene

Which type of wire brush is used for cleaning at ferrous metal?
@by sobs 2 Carsbd aps Wreasflammed &ssn Geuwutiu@dpg?

(P( carbon wire brush (B) stainless steel brush
&miTLe et lrein avEL_uferGleen evieed Lraiy
(C) bronze wire brush (D) copper wire brush
" lgreev i 6 T smuur @uir ey

(E) Answer not known
clleL Qgflweldena

What i1s the name of excess weld metal above the base metal
surface?
257 2 CGarsasdear Cupurtdng Cud fstiugurer Geuw® GwLadler

QuuWIT ereer ?

(A) Weld zone " (B) Sealing run
Qeudb(® Gegmetr Fellmy yebr

(C) Packing run (DWeinforcement
Cuéadln geir ' - QrulesrCumeiv @l

(E) Answer not known
cilenL Qsflweildensy
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90. Why root Gap is necessary in butt joint?
Ul @enantiibled epl Cali eredr jeudlwib ?
(A) to deposit more metal

2fstiuguner 2 Ganrssans L urdll Qauiw

(B) to control the weld metal
Qeue 2 Carasans s RUUBSS

(C) to maintain the alignment
Freowlienu ugmwfés

(I‘ to obtain required depth of the penetration
sar(h(Heuadlenr GCaeneuwimar psms L

(E) Answer not known
clenL. Qg fluweicrene

91. How the arc length distance are referred?
g idlen Herib ereueurm sanrélLiLBHE g -
(Al Tip of the electrode and job
s Grmger (pepars@ gribh@h 2 arer @an Gleuef
(B) Welding machine and job
- Geudgri Guplrsdp@d grudn@n
(C) Welding rod and electrode holder
Geucdig i FmigH@D ereds Grmiger g LiLimesr
(D) Welding machine and electrode
Qaucbig s QuBATSEDGSD cTes Grmg HEh
(E) Answer not known
ellen Qg flwaldene
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92.

93.

94.

How the deposition rate of weld metal is increased in flat position?
uB s Heouled Ceudgn Qeuwynd Curg Qeudm GColLelear erey

Tsarmd iHlafsEmn

( Gravity force
Lelluiiy

(C) Surface tension
urly @eilens

(E) Answer not known
cllenL Ggsflweilcena

(B) Gas expansion
eumy eflfleuant_ged

(D) Electromagnetic
WBleir &g ellens

Identity the welding process when heat alone i1s used during

welding?

eThg euamswnar Geuedgm Cewdapampuie Geudyn CQeuwybd Curg Getiub

L@ vwearuBssiiuBhEng ?

(A? Fusion _
LlenanTa /2 (H& G SN

(C) Shielded metal arc

FOCLL QL it

(E) Answer not known
clen Qgfweildene

(B) Submerged
epGsD FUGITEV(H

(D) Gas Tungsten arc
Cae el e 4T

The arc length is slightly less than the diameter of the electrode is

. called .

isdlenr Herd erews Crmgenr 6fllL s el @Gomeuns @mBSTR H6n

(ATHTIE])
(A/Short

&L
(C) Medium
BOSSTD

(E) Answer not known |
clenL Ggflweicrena

43

(B) Long

Berid

(D) Too long

Ble Berwomen
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95. Thread is formed by cutting a continuous helical groove on a
cylindrical surface called
o manerullenr  Gupurlnie &pd Hleve wetemd GgriiEflurs  weppulded
L)(HHSTO AHOET GTEUGITMI Fo MG T

(A)  Bolt (B) Nut
GumevL- B

(J Screw (D) Rivet
GG (1h fleul_

(E) Answer not known
dilenL Gsflwallerenew

96. Name the force the molten globules travel downwards towards the
job?
o pflw 2 Canag geaflser Sp Crradl gmiube aflp ellensss eremar GuwiT

(A Gravity - . (B) Gas expansion
LeSluSiiiy cumyy eflfleuenL_ged

(C) Surface tension (D) Electromagnetic
urliy @ welilens Bleramhg allens

(E) Answer not known
' e Qsflweldana

97. The material which above the surface (Place surface/meter) is called
: Qeucd(® 2 CGorasdler Cupuriider uigubd Geud® Lgeailha, ererear QUi

(A) Weld slope (B) Toe of the weld
Qeued(h #ifley j\sucb@ Gum

(C) Concave bead (D) Reinforcement
@&l U6y MerGuimirev@ Lo esor (h)

(E) Answer not known
- e Qaflweiidensy
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98. The Temperature of oxy—Aectyline flame is
58— 8lig et ACaer CeuliLifleney ereime ?

(A) 3000°C (B(3200°C
(C) 3150°C (D) 3500°C

(E) Answer not known
eflen GQgMwefcenc

99. Which one is suitable for insulators?
@eanaCaLitasEns@ QummSSOTETE 6Tg ?

(A) -Copper . (]i(Plastic
sriufi (Qebyy) Germeviq &
(C) Tin (D) Bronze
6T (SSTLD) Gyremeny (Gleuarseid)

(E) Answer not known
e Qgflueidena

100. The pressure which makes the electron current to flow it is called
&L yree UM Qaiub (PSsh ———— 6rarm AMWESILGHEDS)
(A) Amper
Amper (<,wiQwir)

(1{ Voltage

Voltage GauneGL gy (Wleanpssid)
(C) Current

syer_ (WOeremyd)
(D) Circuit

syl (&Hm)

(E) Answer not known
allen Gsflweidene
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101. Which type of SMAW welding machine offers both AC and DC

current when welding?

SMAW Qauergis Quipdlytusaie eps Qeudigns @uipdisded AC wpmb DC

Wlesrgryong prb wrHH L6 (HSSOTD ?

(A) Transformer
g 1] TG0T 61V LI MTLD T
(C) Generator
QegarCriir

(E) Answer not known
eflen QgMwaeilecrenc

(]{ Rectifier

Qydig LW

(D) Plasma arc
SleTmeuim <yiré

102. Inverter based welding machines are preferred for their?
@erQeurLi grihg Ceudgi @Qubdrhsd abs sryansdhans wperayfeano

SaflssriubhEpg 2
(A/ Portability

ahsg&F Aee erafleppwimeng)

(C) High weight

T S &b

- (E) Answer not known
aflen Ggilwelcrency

(B) Low cest
cllenay GHanmey

(D) Low efficiency
@®DHS CFwe Hmer

103. What is the normal open circuit welding voltage for the transformer

used in welding by AC power?

grrenevuminismer @Qués uvweau@n AC  WBearGarmLgdd

Quéurs

SMW&sIUBL Hppbg Wer &Hm LweTum® erere ?

AF 50-90V
(C) 100-—140V

(E) Answer not known
aflen Qgfwelcranc
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104. Which one of the following machine is an AC arc welding machine in
given below?
8Cp Qsr@sésuulerer s Qaudgn Quibdrhseaid ag gam AC =yié
Qeucigrs @uibSTid?

(A) Motor generator set (B) Engine generator set
Gur i QeenCriL i Ge @ emgle GlegerGriLir Glal
(( Transformer (D) No one these
G- JTEITELITTLDIT CuopaeL ergie|bldenea

(E) Answer not known
eflen Gsflweildene

105. Which system of welding is free from "ARC blow"?
abg CQeudigm pepuller =ié LGerm @evpur® ghuLTg ?

(A) DC welding (B) AC and DC welding
DC Qeucdigris : AC vpgw DC Qeudigm
(C/ AC welding (D) All the above
AC Qauédigm CuHsETL Si@arsgib

(E) Answer not known
aflen Qgflweldana
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106. What is the basic principle of inverter?
@;?Jmm'_a_r‘ra;aﬂm SiGLUILML $SFI6ULD GTETET ?
( It converts DC to AC
@5 DC 5 AC =45 wmppédpg

(B) It converts AC to DC
@a AC g DC o5 wrppdlpg)

(C) It converts AC to AC
85 AC g AC o5 wrppidng

(D) It converts DC to DC
@5 DC g'DC s wrppdps

(E) Answer not known
clenL Ggflwelerene

107. What is the use of welding rectifier?
Gjyfmorrsj Qréiguwifler Liwie erebra ?

( Convert AC to DC (B) Convert AC to AC
AC 5 DC =5 wmip AC 5 AC 8 wrpp

(C) Convert DC to AC ' (D) Convert DC to DC
DC g AC =5 wrpp DC g DC <5 wrpp

(E) Answer not known
cllenL GgMweldena .
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108.

109.

In welding transformers how many welding cables are attached in
output terminals?

Qeucvigm wrmemavumiofler e Yo Gurderdle assamar euanswmrear
Qeuddig s CaleTaer @) ananésiul g HEELw ?

(A) Three 6 Two
eLpeT ) b0

(C) One (D) Four
Ll BTei(s,

(E) Answer not known
clenL Qaflueildeana

AC transformer's iron core is made in which material?

AC  ggremevunioflée  oder  wier  Camit  ehs 2 Carsssrd
Qewwiul g mé@LD ?

. (A) Copper alloy

STUUIT <eumul

(B) Aluminium
<@ dleflwibd

(C) Brass
GG genar

(D{ Special alloy thin iron sheet stamping
safleuans sy 2 Camsgsreomrer evLrildi Qeuwdiul L Gwdeliu

o Carss 50

(E) Answer not known
ailenL Gsflweildenc
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110. AC main supply means in Transformers are?
worearevumiofe A.C wsearenw Wer eAHCuITsD eremug) ereme?
(A) Low voltage — Low ampere
Gonhs CeurcwGLsh - @&amnbs < bwi

(B) High voltage — High ampere
9dls CaurdCGLg) - oda ,wGwurr

(C/ High voltage — Low ampere
95s CaundCGLg - Gmphs < bEGwr

(D) Low voltage — High ampere
Gonbs CaurwCLe - widls gybiuir

(E) Answer not known
dilenL Qsflwellerenew

111. Advantages of inverter welding machines are?
@erGeur L Qeudigmn @uibdlyrseier FaTenser erane ?

(AI Compact, light weight, easy to set
crafleanOWITETg), Tl (GH@®DEY, FOULDTE SHaNLDSSTLD

(B) Expensive, difficult to repair, sensitive
eflena 2 wWiThsg, LUPg Hé@Geug Hiqad, seued

(C) Both (A) and (B)
(A) wpgio (B)

(D) No one these
CupsarL ergla|lldame

(E) Answer not known
ellenL Qg flwelcrene
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112. Which type of welding machine electric shock possibilities are more?

113.

114.

Qeuerig s @Qupdymsaier Wergny oHied urdiy oflab o drer GuipSyod
aTg?

(A) Generator (B) Inverter
QegarGyL @ emleum LT
(({ Transformer (D) No one these
G- J TG GO LIMTTLDIT @eupdler ergia|dldena

(E) Answer not known
eflen Gsflweldena

In which of the following aspects is DC welding more advantages -
than AC welding?

B Qsrssuul@erer ahg @m uvweand AC Qadymes o DC
Qeudvig i HpHgg ererm sapriuBEng 2

( Arc stability . (B) Power consumption
Hleneowimen ,ié ueuim (Weremyd) Qaway
(C) Efficiency (D) Cost is high
Qewe Fmeir cllene Slasb

(E) Answer not known

elen GgMlwaeldana

welding machine is difficult to repair.

Qeudbigmis @uindyn uwg BéEGeushHE Srwwreang.

(A) Transformers (B) Generators
g T TGV 6 oLIMTTLOIT QeperGriLir

(C/Inverters ' (D) Rectifier
@erQeurLi QgL

(E) Answer not known
eflen Qgflweildane
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115. In which welding machine has less possibility for electrical shock
because of less open circuit?
arhs Cescigm @Qupdrsdad Wersry diddl gHuL GoODHS eUTLILILGET

2_GITermest ?
(A) Transformer (B) Rectifier
G- 6T GV o LI TTLOIT Qydig e LIwiT
( Generator (D) Inverter
QeenGriLi ' @eneurLir

(E) Answer not known
ellenL QgMwalcrena

116. welding machine occupies more space.
eThs eudigm QupbSlrbd iHs QL sms 21&68gsléEh ?
(A) Transformer (B)” Generator
G- T TG G LITTLDIT ; QgerGrii
(C) Rectifier (D) Inverter
Qrdigeenuwim @ eQeurrtLir

(E) Answer not known
alenL Qs Mlweldvene

117, welding machine has higher operating cost.
Oeueigm QuibSlTsdnE GussiuL. @b Fwea; HHsib.
(A) Inverter (B) Rectifier
@erleum i Qydigesamuiwii
(C) Transformer ' (j Generator
g TG GV LIMTLOIT QeparCrii

(E) Answer not known
alen Qs flwelerene
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118.

119,

welding machine has advantage of polarity.

Qeudbigis GuibHrssle Qumenfliy eremm memano 2 ar(H.

(A) Rectifier (B) Inverter
Qy&igosanLwiiT @embleumLir

(C{ Generator (D) Transformer
QleganGyiL it G- TGV 6'o LITTLOIT

(E) Answer not known
eflen @Qsflwelidvane

welding machine 1s not suitable for welding

‘of non-ferrous metals.

Qeudbigis Quibdrd @epby Svars 2 Carsmsmer Geud(
Qeww @ueorg).

(A/ Welding transformer (B) Welding generator
QeuEDIG MBI g JTETEVs LTI Qeucviqra QeyerGrlLir

(C) Rectifier (D) Inverter
Qr&igosamuwim @eneur_Lir

(E) Answer not known
aflenL Qgflweiicena
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120. Which one of the following welding machine has less maintenance

cost?

SpsgaT arhs Ceudiyn QubdHrssne ugmoiliy Qsowe| @Geamney ?

( AC welding transformer
AC Qeucdig i 1gTmesavsHLIMiTLOI
(B) DC welding generator
DC Qeudvigms QgganGriLit
(C) AC/DC welding rectifier
AC/DC Qeuebigis Qusigseemuiwiit
(D) Welding inverter '
Ceuddign @em@eurm Lt

(E) Answer not known
clen QsMwalldane

121. Is acetylene gas flammable?
&g eflerr eumy erflwdamiguigm?

(A/ Yes
Pl -

(C) May be
[AIGEEU

(E) - Answer not known
eflen Qgflwaldane
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(B) No

@dene

(D) Not Applicable
Qummbs TS



122.

What is a critical storage requirement for calcium carbide?
srflwb sriemuBhssrer wadlwwrear CaulliLg Coeneu eremer ?

(A) Store it in a high humidity environment
2l Fruugbd o 6rer @pedld Cailéseb

(}E{ Keep it away from moisture and water
FILIUSLD LHnIL searatialmig lasd meusseab

(C) Store it in direct sunlight
Crrg @flw gefluiid g Callsseyb

(D) Keep it at high temperatures
gfs Qeutiufleneuier encussalb

" (E) Answer not known

123.

alenL Ggflweiecrene

For removing the water vapour from the Acetylene gas the material
used is ) ' ’ '
Sfgedar  euryelalmpbg  Brrefleow  SisHmEUSHGL  LweTURSSUILIHID
Qummerr

(A) Filter Wool (B) Steel Wool
Q&L lq SibLiet] 6Toa(@ SLbuefl

(C/Pumic stone 7 (D) Paper filters
Q& seb &NEG 6Ulg &L Iq&H6T

(E) Answer not known
cllenL Qzflweicens
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124. In a low pressure system, acetylene gas is obtained in a low pressure
generator by water with
GdDHES  2AWSS Afgelenr CmerGriifled, fligeller Hir wHmd

<6 Qupriu®dng
(;! Calcium carbide (B) Silicate carbide

srofwib srienu () fal&sCaL_ smienu(p
(C) Acetone (D) None of the above
SIS GLmer Cuwle eagiajb @deme

(E) Answer not known
allen Ggfwelldvene

125. What is the colour Acetyline Gas?
28 19 efler eumuyellen Hlpibd ereimes 2

( Colourless (B) Yellowish
HpwHog » . ID@REET Biponeng -
(C) Greenish : (D) Bluish
usens Hipmerg BeaBlmb

(E) Answer not known
allenL Qgflwalerena

126. What is the typical composition of the porous substance material in
an acetylene gas cylinder?
Sifllgedenr eumy o (meveruder o eer Hemgeart Qunmefler Qumgeurer
HOEGL GTEITET ?

(A) Activated carbon (]!) Lime Silica
QeuuBSSILL L SriTL6HT GaTanTmibLy Sledl&gm

(C) Activated aluminium (D) Zeolite
Qewou@ssrul L Sigileafluin S CuimrenavL_

(E) Answer not known
ellen Gsflueidene
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127. What is the standard color of a hydrogen cylinder?
emanL_remer &lellerfler Hleneowirer Hlmbd ereme ?

(A)/ Red (B) Blue
Seuliy Beod

(C) Yellow (D) Silver
LD(@h&ET Qeudrafl

(E) Answer not known
cllen Qzflweildwena

128. What is the colour of the nitrogen gas cylinder used in gas welding?
T efleury Geudgmdled LweaTURSSLLGL epplymer eimy e fer Hlpwb

GTGOTEOT ?
(A) Blue (Eﬁ}rey with black neck
Beotd LY SPSSIL6T EMDLIED
(C) White ; (D) Red
Qeuctenar Seuliy

(E) Answer not known
eilenL Qg Muweildrena
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129. What is the application of oxygen gas produced through electrolysis?

L Gt EuT

mhuglder  epad  2pusd  Ceuwtu@b  sedlmer  eumweiler

LweyuIm(h) eTebrest ?
(A?7 Industrial manufacturing processes

(B)

(©)

D)

(E)

Qamflogienn 2 Husd QFwdupeanaer
Medical Treatments

wmsglel Hdlsenssar

Food and beverage production

2 wTa| WHMILD Lrer 2 HLis

Energy generation

DHOD 2 (HeUT&HELD

Answer not known
clenL. @aflwalcrene

130. What is the Primary role of oxygen gas in gas welding?
erfleumy (Gasev) Geucigmidler o seflmen auruyellen (psdlu LIk, eremer ?

)
(B)
«f
(D)

(E)

440-Welder

To cool the welding area
Qeucbig i LiGHaw GafliTeilsEs

To create a protective shield
Q@ UMGSETUL| HUFEMS 2 (HhouMEs

To support combustion and increase flame temperature
arfliy <srey LHMIL &L Qeutiuflere Hsflss \

To remove impurities from the metal
2 Cansgdle(mbg AHFSSHIEMET SISO

Answer not known
aflen Gsflwaeldvene
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131. What types of regulator is typically used in mixed stage regulator?
sl Bl CAreCalLiselld Qurgens ps eumswrar Qr@Gal i

vweruhssLu@E DS ?

(A) Single stage regulator (B¥ Double stage regulator
ehen Bl CrEGa i @rleL Hlene GrEgGal i

(C) Triple stage regulator (D) Adjustable flow regulator
eperm Hlenaw Cr@Ga i gefliy @rLib &rmsd

(E) Answer not known
aflen Ggflweildana

132. What is the advantages of using a double stage regulator over a
single-stage regulator?
gehep feoo QreGalirear &l @rier flow  Cr@Gald
UWSTU(HSSI6USEN HETENLD 6TEH G ?

(A) Higher flow rate
<ifls UL dlgnd
(Iﬁl Greater accuracy in pressure regulation
S(W55EDP FUBGUOSGIED ifls gdSLD
(C) Reduced physical size
GDODESIULL 2 L6 616
(D) Lower cost
GophHs dFway

(E) -Answer not known
aflen @gflwieildbena
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133. What is the function of a dirt filter in a single stage regulator?
eneap Hlee Frrsduld DWsE augsligulien Gewdur® ererer?

(A) To separate oxygen from the gas mixture
aumy seweeuudlellphg 2 sallnaman GMss

(B/ To remove impurities from the gas supply
Caev MFCUTESH(HHg HFSSEISHET SSHD
(C) To regulate the gas pressure
QUM (PSS FTTéHe
(D) To mix different gases together

QeucuGeum) UTUIEHE®ET RETHTEH S&HSE

(E) A.nswer not known
eflen Qgflweldane

134. Where 1s the lockin pin typically found on a gas welding regulator?
Gaev Geuchigrir GrEgGal e Gungeurs enssler wper rmGs 2 drerg) ?

(A) On the high pressure gauge
2 WIT (PSS eTaliLl Iged

(J On the adjustment knob or dial
sllewuge @D Soog Lwd g

(C) On the gas inlet connection
erfleumy menpaumuiler @enewriidea

(D) On the low pressure gauge -
GODHS A(WSS SiaTei g6

(E) Answer not known
allenL. Gsflwaidrena
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135.

136.

How many pressure reduction stages does a single stage regulator?
gheapblaow QrgtalLild assmar iWPssb Gaplil Hlaosmear QFuidng ?

(A)” One (B) Two
Qe Qe

(C) Three (D) Four
epeT ) IBTEnT (S

(E) Answer not known
ellenL Qzflweildwene

What is the function of a welding flux in aluminium Weldmg‘7
si@flaflu Qeudgmdld Qe slierdev Ceudur® ererer?

(A) To remove impurities from the weld pool
Qeuerl_ GersSad(HhE SNFSHSRIGMET SH&EDHD

(B) To improve the appearance of the Weld
Qeuebl_ grsens CbUBHSS

( To prevent porosity and promote fusion
CurCGrréllyerw sH&s wHMD Gmamane 26 @eNsEs

(D) To reduce the risk of cracking
allflgd UTLISMS GDMES

(E) Answer not known
eflen Qgflweildane
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137. What is the maximum thickness of metal that can be welded using

the leftward technique in gas welding?
Caev Qeuciqradledy @LgiLp L usmst uweaTLhSS Geudignm CFuiuisgmnigw

2 Canagdlen SiflaLs Sig e eremer ?

(A) Lessthan 1.5 mm
1.5 mm &l gepaireang

(C) Lessthan 3.5 mm
3.5 mm &l e meunarg

(E) Answer not known
ellen @Qgflwelcreney

(B) Less than 2.5 mm
2.5 mm & Gmpeunang

(D% Less than 5 mm
5 mm &L Gepeurarg

138. Which type of steel is typically used in copper coated filler rods for
Caev Geucgidlh@ smlly ysiul e Blpoy sblseild Qurgeurs erbs

GUENSHWITET GToo@ LWETU(RSSUILOE DG ?

(A) Stainless steel
SHUYGESETS 6Too@
(C) Alloy steel

SIOMU 6Too()

(E) Answer not known
clenL GQsflweicrenaw

‘(B) High carbon steel

D WIIT SITITLIET Gl'oo@')

(]{Mlld steel

Cavamer 6ss@

139. Which technique involves commencing the weld on the right hand
side of the seam and working towards the left hand side?
cuag UDsSed uppeeuliuenss CQsrimd @Lg ussd Cpréd Ceume

Qewieuang 2 eTerL_&dlw KLU UL 6Tg)?

(A) Rightward technique
GUEGILM LD

(C) Vertical up welding
Qeri@gggieuany Geueigm

(E) Answer not known
alen_ Gzflweidwene
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Qraiyp pLub
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SlenLol L Qeuedig i



140. What is the typical role of a flux-coated filler rod in gas welding?
efleumy Qeudigmdled Slersev-Camil Sbever gmgen Gumgeumen LIkiE
GTGITE0T ?

(A) To add extra strength to the weld
Qeauel gmBHze cualand Caiés

(B/ To act as a protective barrier to prevent oxidation
< &80Cansmss sHE6 @@ UTHSTUILS SeLILns QEwuduL

(C) To control the temperature of the weld
Qeueriger Qeuliuflenoverw sL_HULBHSS

(D) To adjust the gas flow rate
Caev U L alldlsseans 0w

(E) Answer not known
aflen Ggflweicena

141. What is the recommended metal thickness range for-plasma arc
welding using keyhole technique? :
EGanméd mUUSms  uweau®SH  Germevonr  yiE  CeudigmdHE
ufpgersstiumb 2 Conssd Siq 06T euFbL| e ?

(A) Upto1l mm (B) 1 mm to 3 mm
1 mm eueny (1 AB) 1 1 apsed 3 WIS
(C) 3 mm to6 mm (I’2.5 mm to 25 mm

3 IS s 6 WIS 2.5 188 s 25 WIS cueny

(E) Answer not known
aflen QgRlweiecenc
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142. What is a common challenge associated with projection welding
using a moving plate?
B&@HL  slenl vweru®ss CLErrOmamyen Geudighi@gLear GQFTLyenL
Qurgleurer seume erebmen ?

(A) Ensuring consistent pressure
Blavowrer wWsssms 2 mgl deiigea

( Maintaining accurate alignment
govedlwirer Fyepwliemus ugmoflgse

(C) Dealing with distortion of the workpiece
venflldlLruseflen flangeneud ensHwm@Ense

(D) - Managing weld spatter
Qeuer evCuLlLeny Flifeudlgsed

(E) Answer not known
alen Qsflwaldrene

143. What is a benefit of plastic welding?
Gerravigd Geudigmidler peenln erema ?
(A) Increased production costs
. 9dlsfss o Husd Qe ser

(B) Reduced strength and durability
GOD&SSIULL eUedlend DHDILD <y u|eT

(C/ Superior. strength and reduced cycle time |
Spphs euelento wHMID Gmmésul L &pnHél Crrn
(D) Increased material waste
<Slafss Qummer sdlay

(E) Answer not known
clenL GQsflwaicrena

440-Welder 64



144. Friction welding is done only for joint
2 grey ubhpereliy wpenpudled @eentiiL) LWL(HID @enarTds (LPiguyb.
(A) Lap joint
atnanlg qearn @iy (UbH&ms cusLd)
(B) Tee joint
ganper g wH@prery Qen@ss @ eenTiiy
(C) Corner joint
ppene @enanTiiL]
(D( Butt joint
Crups@ Crir @eewTiiLy

(E) Answer not known
elen Qzflwueidene

145. Plasma arc cutting used gases
Qermevwom Wesedled Qamar(h Geul L LweTumHb eumy

(A) Oxygen (B) Argon
<& el et <2, TS Mot

( Argon + Hydrogen (D) CO2 _
THTET + Enaun L6 STTLUGT enl A &enen(h

(E) Answer not known
elen GQgflweildena
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146. In thermite welding, thermite mixture is in the form of
Qs Geueigmdled Csmbll saeaneu

(A
B)
©)
(D?

(E)

Aluminium and Iron oxide
@ fleflub wHmb @b 2 sEamav(h

Aluminium and Charcoal
Si@fleflub wHmb Hedsfl

Ironoxide and Charcoal
@by smev® wHmb Hlass

None of the above
gpemileaney

Answer not known
eflen Qgflwelldene

147. Steel wool or Iron powder used to start welding
2 Coong o (haTenl. Bwog @QmbY gGseT uweatuRSS uDDeelil geumniELh

UhmeneuLiL]
(A) Spot welding (B) Seam welding

yerefl upmeneuLiy Qamir yetefl uppeneuriy
(Cf Submersed welding (D) Arc welding

sLQ Wl (H uHDenEILIL Werefled LHmeneuLiLy

(E)

440-Welder

Answer not known
aflen Ggflweferenew
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148. Identify the colour code of black and neck white cylinder
smuy Hpsdaub wHmib swWss uGd Cedrener HlnsHend o 6rer eumyy

D (HEneT

(A) Argon (B) Acetylene
<2, T&HTET <L 1g 6016t

(CFr CO: (D) Oxygen
STTUETENL 2 &mav(h 2}, dendl st

(E) Answer not known
aflen Qg flwaeildena

149. What 18 another important function of the molding box in thermit
welding?
Qamil Qeudigrdld Cumogn ursellear wHGDTm wsSHwuwrear Qewdum
GTGUTERT ?

(A) To prevent oxidation of the molten metal
2 mlw 2 Canssdler s8lnCapnsoss sH&s

(B) To support the mold during the pouring process
Qar (b Qewdur e Curg Hsasmer Flallss

(C( To direct the flow of molten metal
2 (Al 2 Cons UL sms @UsEUSHE,

(D) To reduce the risk of molten metal spills
o2 AW 2 Canss séleysefler HUTWLSMSE GMDES

'(E) Answer nof known
e Gsflwaicrene
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150. What are the two elements that make up carbon-di-oxide (CO2)?

sriuer e smsa (CO2) o meursgb @ranh sefllwriser wreme ?

(A) Carbon and Nitrogen (B) Carbon and Hydrogen
STTUGHT WHMID & bL_TE 6T SMTLIGHT LDHMID QDL [TER60

(C) Carbon and Oxygen (D) Carbon and Sulphur
STTLET WHmI ), &endlsgenr STTLIET HMID SHSED

(E) Answer not known
edlen Gsflwaidene

151. The purpose of the gas diffusers are
Caen 1gosliuyF T LweTumiger Crrésbd

(A/ To send the shielding gas to the nozzle
HeUF GUTUL|eneU BTElRI&HE DIl

(B) To send the shielding gas-to the regulator -
seug eumenel Qr@&CeLl L (héE SialiL

(C) To send the shielding gas to the welding m/c
&6us eumuenel Uppeneuliy @ubHrssne@ ieiliu

(D) To send the shielding gas to the job
&eus eumujeneu LianflliGLimmEné@ Sigi

(E) Answer not known
allenL Qgflweldena A
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152.

153.

type of current is used in MIG welding.

MIG Qeudbigisdléd ergy LweTLHSSLILOE DS ?

(A/ Direct Current (DC) (B) Alternating Current (AC)
Gy Werarpssn (DC) wrpul L Werarpssn (AC)
(C) Both AC and DC (D) None of the above
AC wpgib DC e Guhuly agiab Gdame
(E) Answer not known

cllenL Qzflweicwene

What-is the function of the collect in-Gas Tungsten Arc Welding
(GTAW)?

Gsev LiuevLar <6 Qeudigidld (GTAW) CarQaliyer Qewedur( ererer?

(A)
(B)

(©)

To feed the filler material into the weld area.
Qeual u@Ha@ear Hlyliy Qurener oar (HeusnH&.

To control the gas flow rate during welding.
Qeucigmi CGurg erflaumy gl L alldlsd s HUUBSS.

To adjust the welding arc length.
- Qeucdigris its Barsans sflCaniw.

([/To hold and stabilize the tungsten electrode in the welding

(E)

torch.
Geueigm LTigsled Liusv e Wanpearemwl Wiyss Hlaolubss.

Answer not known
clen Qzflweildene
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154. What is the purpose of a flow meter in Gas Tungsten Arc Welding
(GTAW)?

Caev Lmavar <ié Qeudyidld (GTAW) g 8 fer Corésd eremer?
(A) To measure the voltage of the welding arc.
Qeudigm gy i&dlen Weanarpsssms el (heusnE.

(B) To measure the amperage of the welding arc.
Qleuddigm =y r&dlem <bLCransy jerallL.

(C/ To measure the flow rate of shielding gas.
seug eumujellen U L alflsseans erellL. .

(D) To measure the temperature of the weld pool.-
Qeuer(n) Gersdlen Ceulitiflenaven jemedlL.

(E) Answer not known
cllen Qs flwelcdrenc
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155. In Gas Tungsten Arc Welding (GTAW), what does “Post flow” refer

to?

Gaev Lisevar <ié Qeudigidler (GTAW) “Gurevl SHuGern” eremug) eranss
&Dl&8Ing) ?
(A/The time the shielding gas continues to flow after the welding

(B)

©)

(D)

().

current has been stopped. _.
Qeucvigis WenGarmLb flmssiiu L. Wng Gsrw eumy Gsriibg
umpg Qewgin Cryb.

The time taken for the electrode to reach its optimal operating

temperature.
Slempepanumeng ger 28565 @Quss Cealublewaw  enLw

T ah&@h Crib.

The duration for which the welding current remains on after
completing the weld.

Qeuddig iy (pighs W@ Qeudigm WerGarm L1 @H&E@GHD &reLb.

The period'required for the weld metal to sélidify completely

before removing the weld.
uppeelienl sPneusHE wer, Geudl 2 CGarsbd ApPELWTS
Sriiupsgieusn@ Caemeuwirar sreib.

Answer not known
cllenL Qzflweiwens
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156. What is the main purpose of a sectional view in an engineering
drawing?

@@ Gurdlllue euanguL e @ uGH uriemeiulen wadlw Crrésd eremer ?

(A) To show the overall shape of the component.
gamisetlen U HELTEs augeusanss ST L .

(B)” To illustrate the internal details of a component.

@@ smmisailer o 61 aflourhisaer allaTs@6eusn .

(C) To simplify the drawing by reducing the number of lines.
auflsaflen  crammenilsensamws  GoDUUSET PO  UMTUL DS
TeTSTE @ He0.

(D) To show the assembly of multiple parts.

ue u@Gdsailer Qam@Llienu smL .

(E) Answer not known
eflen Qgfweldane

157. What should a leader line terminate at in an engineering drawing?
Qumdluliued euenruLgdledr SLit Cam@H erdled pigeueLujib ?

(A) In mid-air ({ At a point on the drawing
Bheumafle euTUL e e &L Sl

(C) At an angle (D) At the edge of the drawing
@ Carausdle auenguL SHler aflaflibifled

(E) Answer not known -
eflen Qgflweildane
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158.

159.

In a generator, mechanical energy is converted into which type of
energy?

em OgaCGricfleo, Qupdly wdHpd oBHs umsumar  YHDOTE
wrHoLLbhEDE ?

(A) Chemaical energy (B) Thermal energy
)}'Mnum < HoEd QeuliL <y mmed
(C¥ Electrical energy (D) Potential energy
W6 =y Hmed FTSHWIDTET DD

(E) Answer not known
clenL Ggflwelcrena

What is the definition of mass?
Blenm ereiTLg) ereTE ?
(A) The amount of space an object occupies.
@ Qurmer Yy sdlyblsgierer @ slen amm
( The measure of the amount of matter in an object.
e Qummefle 2 drer Qummafler ojarafler eray.
(C) The force exerted on an object due to gravity.
ity eflenswmed gn Gummefier g Qeaussu@in allans.
(D) The speed at which an object moves.
@ QurmeT B Ceusid.

(E) Answer not known
aflenL Qg flweiidana
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160. What is the fundamental unit of length in the international system
of units (SI)?

sirauCses w@saier (SI) fersden sigliLen e @ erane?

(l Meter (B) Centimeter
S Qeemg S i

(C) Kilogram _ (D) Second
$Gam &lymb @) yeiTL_meug)

(E) Answer not known
cllenL Ggflweldrenaw

161. The presence of which element is increased in a carburizing flame?

sriuamydli § 9pbdd ager eme ASsWLTE @) HEEGLD?

(A) Oxygen (B) Nitrogen
&l g . enBL_T e
(Cyf Carbon (D) Hydrogen
SITITLIGT . GNQUD L[ ER 63T

(E) Answer not known

eflen GgMweildene
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162. What is the angle of oxy-acetylene cutting nozzle?
g, &all- S g eler pradler Camenrid ereman ?

(A¥ 90° (B) 110°
(C) 120° (D) 140°

(E) Answer not known
alenL Qzfluaidena

163. Acetylene gas is the product of chemical reaction between calcium
carbide and
sroflub srieu® Spsareundled asaiLer adlichlaar Lfbg oidiigeder
aimy gHuBSDg. ' ‘ '

@A) Air B Water

Sulul & GoT oot it
(C) Kerosene Oil (D) Lubricating Oil
Lo@gr (ol v e ol v L : nANCsligm <pule

(E) Answer not known
e Qgflwueidana
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164. What is oxidizing flame?

< &8enLdlm 9CeTD eTeTLg) erera ?

(AF¥ High quantity of Oxygen and low quantity of Acetylene
98 saI|eTe| USHIR@ID, GHMDHS ST6Te| 4F L 1gedllanb

(B) Equal proportion of Oxy—Acetylene
FIO SN 6T6| 2 sedlneand, & igalgb

(C) Low quantity Oxygen, High quantity of Acetylene
GODHSETE| ASINMID, ANFs sarieTe] & Iqellgib

(D) None of this above
Cop@Oidl L germib @deame

(E) Answer not known
clenL Qsflweicrena

165. Which type of gas flameé is to be used for Stelliteing purpose in
Oxy—Acetylene gas welding?
58 — 8l gdlenr Caev Ceudigrdled sv@Lellign cuams Goumeds@ hHs
auena SUidpbent LweTLI(HGSIem ?

(A) Oxidising flame
< &flen Sl Srifpiby

(! Carburizing flame
sriyenydli Sy

(C) 'Neutral flame
BOBlena by

(D) Slightly oxidizing flame
APgearey sflen i Ll

(E) Answer not known
eflen Qgflwalcrane
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166.

167.

In Oxy Acetylene gas welding which gas flame is to be used for
welding of Stainless Steel?
G &H-wflgellanr Caev Geuddigrudled ev@Lularoen eveme GQeaud®H Qeiiw
Ths eumss Sy LwaTURSSLILBE DS ?
(A) Oxidizing flame
sfen S Sy
(B) Carburizing flame
sriryenyflm SOy
(C/ Neutral flame
BOBlene Sridpiby

‘(D) Slightly carburizing flame

flgere] ariyeydli SUdpib

(E) Answer not known
cilen Qsflwelerene

is occurring at the tip of the welding torch is the

1nstantaneous retardation of the flame.

aerug Geudigm Ly pevanied gHu@i  SublpbiGer
sarGry Genaren_6| <,@Lb.

~(A¥ Backfire - (B) Flashback
et Liermeiy Guid
(C) Combustion (D) Ignition
erflged ‘ udn MeuSSH6D

(E) Answer not known
aflen Qgflweildana
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168. Why is Oxy—Acetylene compound widely used in gas welding?
Caev Qeuedigis Geweuriged wsell-HFLgeller soenel eem LIFeUeTsL
vwetuhiSsUUBH D) ?

(A) It gives more economical
@g <ids Hssasms alsdng)

(B) It gives the cleanest process
@a gnuewwrer QFuDpeDEL GULPhIGS DS

(C) Complete combustion is possible
W ewwrar ey s&Sum@b

(D/ It gives highest temperature as compare_d to other combination
HD swmeimwu UIAGHLGCUTg @& wifs Qeauliu flawamwu elsdng

(E) Answer not known
eflen @gflwaeicrane

169. What is the flame temperature of Oxy—Acetylene flame?
2,68 o8l geler SLbpber Qeuliu Hlene ereier?

(A 3100 °C to 3300 ° C (B) 2700° C to 2800 ° C
3100 °C @pse 3300 ° C 2700 °C gpse 2800 ° C

(C) 1800° C to 2200° C (D) 1825° C to 1875° C
1800 °C apsed 2200 ° C 1825 °C apse 1875° C

(E) Answer not known
e GQsflwalidana
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170. While doing cutting operations in Oxy—Acetylene the inner cones of
the preheat flames are approximately above the

surface of the metal to be cut?

258 — fligelen Caev siligm Qeuubburipg weardetiutiu®sgeusns
vweru@n  Sulpbeu  slgr  Qelwiue @@mé@n  YCerlighE G
ereuaeTe] Grysdle 1igss Ceuamm(hib ?

(A) 1-2mm ({2—3 mm
(C) 4-5mm (D) 56 mm

(E) Answer not known
cllen Qs flwaeldena

171. Acetylene gas cylinders have the maximum Storage pressure
capacity 1s
Sl geller  eumy o meversefles CHlssuupBL  eumy  FsUlsons
SPSs5ED QHEGLD.

(A) 7m3 ' (B) 150 kg/cm?
7 m3 150 kg/cm?
(C) 3.5md (]Yl5 kg/cm?

3.5 m3 15 kg/em?

(E) Answer not known
clenL Ggflweildeney

172. In which capacity commonly oxygen cylinders are used?
Qumgeursll vuweTu@b sedlsmer 6uTy 2 (henaTseT erenan  GameaTeTeTay

Q& magr () erere ?

(A) 6m? . (3(7 m?
6 m3 7 m3

(C) 8m? (D) 9 m3
8 m3 ‘ 9 m3

(E) Answer not known
clenL Qzflueildwena
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173. What is the use multi Hole Nozzle?
ue glener Gamar Bréledlem Liwie ereime ?

(A) Gas Welding (E{Gas Cutting
Caev Qeuciig Caev &L igm

(C) Brazing (D) Silver Soldering
GCré m fevbeum gmedLMm

(E) Answer not known
eflenL Gsflweldane

174. What is the use of oxygen cutting lever in gas cutting?
erfleumyy  Geul Bt Curmgy sallmer Geul (B QpbLGsT 6 LweTLT()

GTEHTET ?
(A) melt the metal (B)¥ cut the metal
2 Caonssns 2 (HéEs 2 Cansgans g @i &Hs
(C) weld the metal - (D) clean the metal -
2 Cansgamns LHDMeISHS 2 Carsgsams GriawUBEHS

(E) Answer not known
e @Qsflwuelcrena

175. How much should be the thickness of the plate in oxy-acetylene

cutting process?

S dall-ofgelenr GQeul (Hbd Gl&u_leuurn_mrsu 2 Caonmagdlen Hemmd 6TeU6I6TE
@ mss GCouar(HIb 2 -

(A) 1mmto2mm (B) 2 mm to 3 mm

1 B8, g 2 .15 2 .15, apsed 3 1O.L5.
(C) 3mmto3d.5mm (D¥ above 4 mm

3 W08, g 3.5 .15 4 10.15.6 G

(E) Answer not known
clenL Qg flwelcrena
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176. Which gas in commonly used for low cost purpose in Gas welding?

LT,

Caev Qeudiyrdled Gaphs AFweid Qurgeins uwaTUESSUIUGHLD UTWL 6Tgl?

(A) Argon (B) Helium
<= T T anadlwid

(C( Acetylene (D) Neon
2111 1g @Ol et 1hlusmer

(E) Answer not known
alen QgRweldene

is the material that melts during cutting and
adheres to the bottom edge of the cut face. ) ]

araig Qeul (b Gumg 2 HE@GL wHmL Ceul LUl
wasden & eflefibi9e @l igsd Qaramg mé@En Gummer < @Lb.

(A) Kerf (E{Dross
Kerf . Dross

(C) Crater (D) Dual flow
Crater Dual flow

(E) Answer not known
eflen @z flueiicvanc
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178. The purpose of oxygen in oxy-fuel cutting is
D &E0] -l WIe) &Ll hdled) ydeadlmer eury seliuger ChrésD
(A) To provide a shielding
sassms gHUbSS
(B) To act as fuel

erfl@ummenmas LweTuL
(C) To prevent oxidation

Bl ssons 5065
of

To support cumbustion and assist in cutting
sligm Ceww ggeuns arfleusn@d gienanrLyilu

(E) Answer not known
aflen GAsflweferene

179. Oxy-fuel gas cutting is almost selected to cut mild ste¢l plates upto

mm
S FF -l Casev &Ligm QUENTUIGTET  6TooaE &L Ig Ml
Qaww vweTuBSsLILH S DS
(A) 25.4 mm (B) 150 mm
25.4 mm ' 150 mm
f 300 mm (D) 600 mm
300 mm 600 mm

(E) Answer not known
allenL Qgflwaelcrene
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180. Which type of Gas Flame can be conveniently used for gas welding
both ferrous and non-ferrous metal?
@by wHpb @by dders 2 Corssms Csev OeudymdhE abHs

GUENSIWITAT QUL &L GO GUEFSWITEG LIWETU(HSSETLD ?

(A) Air-Acetylene Flame (B) Oxy-Hydrogen Flame
SO AL 1qeded &L it 2,560 - L TEeT gLt

(C)Y Oxy-Acetylene Flame (D) Oxy-LPG Flame
el oéligeder &L < &al]-eredidgl arir

(E) Answer not known
cilen Gsflwaierenc

181. What is the melting point of Aluminium oxide?
si@fleflud S sEmaiger 2 (HE Hlee eremer ?

(A) 1930°C (B) 659°C
(C) 1083°C ' (D) 950°C

(E) Answer not known
clenL Qzflweicdene

'182. What is the melting temperature of Brass?
Wgsemerudler 2 (h@GHlene eremer?

(A)  650°C (B) 419°C
«f- 950°C ' (D) 1083°C

(E) Answer not known
aflen Qsflweildane
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183. Why the divergence allowance necessary in copper butt joint?
sruum Ul gmuldengd Coeneuwimear Geaumun® Gar@®iLier ?

( It controls distortion
8 Hagmeus sU_HLULBSHSH DI
(B) It controls penetration
Bal eapBeuos sLHULOS5ADS)
(C) Copper has high thermal conductivity
sriur s Qeuliu sLGgsdner CareLg)
(D) Copper has high electrical conductivity
sTUUT fls Wer sLgsHner Caramg)

(E) Answer not known
slenL Qzflweldens

184. In gas welding what type of flame is used for cast iron?
euTTLILAl (RLDLY Gumyy Qeucdigrdlh @ GTGHTGHT CUEHGLITET eL1Garid
vweruhSsLUBE DG
( neutral flame
Bl e SuGartd
(B) oxidizing flame
&S eLFm LHGerd
(C) carburizing flame

smiTueny&n SHliGerid

(D) flame with excess of oxygen
2Flstiugurer g sallmer Garam . SHuGeid

(E) Answer not known
alenL Qasflweldene

440-Welder 84



185.

186.

Which of the following elements is added to steel used at very low
temperature
Was @eophs CQedubleouied vwETURSSLUUBDL  Ta@d@  D6Teumd

gamisafled erg Gaidsliul_(Heterg)

(A) Manganese (B) Chromium
LOIT I S &7 r &Grmwid
(C/Nickel (D) Molybdeneum
hlEge Lo medlLiig arLd

(E) Answer not known
cllenL Gafluaidvena

An electrode code as per Indian Standard contains 2 letters followed
by a 4 digit number. What is the second letter indicate

@pdu evmari@er 2 erpsgsseflaruy aCorsGrmger @HluliH wHoID
4 Qess aam GHIUL g o 6er Qe Teug T (Wds T@ss GHESTDg ?
(A) Welding position

Gleuebig i Hlene

(B) Tensile strength
G peilens cuailenio

(({ Type of covering
L&FSler euans

(D) Welding current and voltage condition
Gleudigm Wememyd wHmib CeurewCLey Hleva

(E) Answer not known
eflen Qgilwaelerena
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187. Which type of material used in cellulosic electrode in welding?
Qeuciqrdled  QeeyCGardls s Grmged ehs euamswmar  Glummer

vwetuhSsuUBHmE) ?

(A) Titanium dioxide (B) Iron powder
e Lraflub e same® SWITET LG LiT

(C) Copper (lWood pulp and flour
ST D& Fald LDOHMID LOME

(E) Answer not known
clilenL Qg flwalcrene

188. Hydrogen coated electrodes are coated with

@@L M6 LLFUILL L. ere&Ll gl —————— LFUul L g).

(l Calcium carbonate (B) Calcium chloride
sreoflwib smriruCer_ srdlwun @Garmenyh

(C) Calcium hydroside (D) Calcium permanganate
sredlwid ewanl Crrena( srOslwb urormsGer

(E) Answer not known
clenL Qzflweldrana

189. What is the percentage of carbon in medium carbon steel?
BOSST SMTLET 6Vleadled &Lt e &g;aﬁg,Lb GTEITET ?

(A). 0.05% to 0.30% , (B) 0.05% to 0.8%
( 0.30% to 0.6% (D) 0.6% to 1.2%

(E) Answer not known
cilenL Qg flwelcrena
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190. How many types of consumable electrodes are classified?

191.

[HI& 6 ereusL_Grm(p CT &S 6 G 6LEN G LI TET erasL_Grrhaerma
cuanalIL{HSSLIL[HE e ?

(A/ 3 (B) 6

€ 2 | | D) 1

(E) Answer not known
eflan Qsflueideme

Which electrode is used for joining heavy cross section of metals
without edge preparation?

eflefliby gumrfluy @demwed "2 Carsnseafler sawrar GnéE Qeul Hsmer
Qemanss ahg eTaslrThH uweruhssiuOEng 2

(A) Low Hydrogen Electrode
GdDHS el Feer eresl Crm®

(E(Deep Penetration Electrode

<2pLp 2an(p\(HEd eTeu&LTm(hH
(C) Underwater welding and cutting electrode
Bmésguile Qeudiym Gelubd wHnpb Qeul Hb sl gr@h
(D) Rutile electrode '
EHLEL 6D eTeO&LTm(h

(E) Answer not known
cllen Qgflwalsrenew
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192. What type of wax layer used for protect electrode in underwater
welding and cutting?
Bmésguied Qeudym wHYL sligm QFieusnE erarar eumswUTar GG
uredldflm ereslrrhiseer sriy Qeudpg) ?

(A) Paraffin wax (¥ Lacquer wax
umpier Gwps, méeulr QLG

(C) Soft wax (D) Edible wax
Querenwwirar GWwE; o a@rewts Falgl QW&

(E) Answer not known
aflenL Qg Muwaldene

193. Which type of arc length produces deep penetration weld?
THS GUESWITET 2,8 Cevens 2y prer sar(pH(meuenald 2 L mé@&Sng) ?

(A) Long Arc length (B Short Arc length

. Bermrer yis Qeves . GnHwW =i7é Cavens

(C) Medium Arc length (D) Too Long Arc length
BhS5T < is Qeverd & Berorer <yids Qaes

(E) Answer not known
ellen Qsflweiideane
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194. What is the advantage to use Iron powder?
Gy grer erewsl Crr@ e uCGurdlliugen (WPESHLIDTET HETEILOSET GTee ?

(A) To avoid crack in the joint
e e Symé ghubeuams hHdsHe0

( To increase flux coating
Yergev Camliger ss&dHaw sifahss

(C) To decrease welding time
Qeucigiiens Wiy&@Eh CErSams GaDnss

(D) To conduct electrode easily to passing current
clenreuns Wergngseans, erasl Grml eped sLGgis0

(E) Answer not known
clenL Qzflweildena

195. Whitch device 1s used to remove moisture content of an electrode?
ThS GUMSWITET FTH@TD rasl Crml Frlugssansd AsHD 2 56 S ng)?

(A) Steam oven ((Electrode Drying oven
Brredl @iy aasCrrh 2 isgih i@y

(C) Convection oven (D) Microwave oven
Qeuliugeard siHLiy mieRTaRTanad <i(hiL

(E) Answer not known
clenL Qsflueicens
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196. Which is used to preheat the metal above 25mm thickness plate?
25mm  seaibd Qerawr 2 Canssans arbeuliu@sgeusnhE UweTUhSsieug
6Tg) ?

(A) By using flame ({ By using charcoal furnace

SFaLi s 2 e

(C) By using Induction furnace (D) By using crucible furnace =
ST 2 66V fayeneu 2 e

(E) Answer not known
edlen Qaflweildena

197. Héating of the j(-)int before or 'during welding. to a certain
temperature 1s
Qeaudbigis QeiieushH@& e ook Geudgnr Curg @huElL  GQeuliu
Blenawd@ CeuliuliLhsgieug

- (A) Post Heating . (BIPre Heating
Ger QautiLtitdsgise e QeutiuiLibhsgse
(C) Hardening (D) flame Hardening
&g SETENLD S&aLim

(E) Answer not known
allenL Ggflwuaidrene
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198.

198,

How do you check interpass temperature in welding?
Qeucrigidler Qent Geuafl Qautiuflenaenws eréueunmy sfumissiuG&ng) 2

(M By using crayons
SGrwersmary) LWETUHSHIGUSET PP

(B) By using Graphite

Slrseemul. LWeTU[RSHIGUSET pPGULD
(C) By using Magnetic powder

&MhS GIeT LWL (HSSeUS6r pLped
(D) By using LCD

LCD vweru®sgieugser epeotd

(E) Answer not known
ellen Qsflueiidana

In'welding, the purpose of preheating is
QeuerigdlH@ per Ceuameaenws e snl_igGul GLré@Geuser GHT&EsD
(A) To increase the extent of penetration

sar(p\(medlenr eremey SlsiEs

(B) To minimize the porosity problems
Qumréliig Urésamanseaer &amn&s

((/ To reduce the rate of cooling of the weld metal
@eflepl G 2 Carssdlear aigsmss G®DES

(D) To increase the metal deposition rate
2 G Liyey alflgsms fsflss

(E) Answer not known
alen GQgfwelildene
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200. What is the preheating temperature of medium carbon steel?
WBigwitd smiruer aveeler per Geuriublane eree ?

(A) 90°C to 100°C (1) 180°C to 350°C
(C) 300°C to 600°C (D) 600°C to 1000°C

(E) Answer not known
alenL Qsflwalcrena
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